2. Consider the ordered logit model with unobserved utility given by
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We observe x; and y;, where

Our goal is to estimate 3, v1, v2, and 7s.
—a ° o

O Qb fprailities

Py -0 1w = plFranled = P(ﬁ:a\ér_[m)-
— -_L\,(Y.—

Prg=1 11D« POy |B) = P(r L 4'pra < |10
- ~Plr-TpLe L -Tp [T

P (yr=> (1) = wi\,(n — %) - A(Y(—&FN
D OR-%P)

Plai=2 1) > P(WF2¥)
= ple2 v -] %)
= \ =Dy (u-x'p)

EINCTERO) -

'(’

\’1‘ W—TP

; B-Tp
7 N (-0
o>+ Uketind n. PRI
Lew ) = T Pl oha)‘?(m L™ (e (102 ptges (2D
ﬁ.

‘WE@‘/_) T Py~ (w) "T P(g,@lm) T P12

\A'O
T[A(\».W]W[ ® 1“( @ 1T @ ]

W‘:o



b Ane "
“A (u+) _ du +d*v

Oy def. a?(\a—om} \ [éi\.’l A%
T R T 3%
= 22T D20 (1- Dor—p) B |
=tz (po> (-2 0) ]
N } > 1’)
‘6 }nJ‘I‘[ P(?/&‘( :\ veall (slide 9\\

6 : (W= ; %=Am(\-i\m§
.

Var (X = C—: N
Vo (&) = W)



Consider the Type 1 Tobit model
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(a) DerivdE [yi| zi,v: >0 (L (y; > 0] 1)), and € [y;| x;]/[Hint: E [y;| ;] = E[yi| xi,y; > 0] P (y; > 0] ;)]
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